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int dp[MAXN ,hson[MAXN],dis [MAXN];
void dfsl(int u,int fa
dplu =dplu =dp|u ;

int i=head|u;i;i=edge!i].next
int v=edgel[i].to;

==fa ;
dfsl(v,u);

dplv +edge|i|.w>dplu

hson|u|=v;

dplu =dp|u ;

dplu =dp|v +edge|i].w;

dplv +edgeli|.w>dplu
dplu =dp v +edgeli].w;

void dfs2(int u,int fa
disiul=max(dplu ,dplu ;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
v==Tfa ;
v==hson|u
dplv =edge[i].w+max(dp|u ,dp

dplv =edge[i].w+max(dp|u ,dplu

dfs2(v,u);
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$$p=\frac{C_{n-1}~{i-1}(i-1)!(n-i)!} {n!}=\frac 1n$$

00 $C {n-1}7{i-1}$ 00000 $n-1$000000 $-1$00000000000O0%G-1)!s00DO
OO0 $is00000oo0oooooo

$(n-)D$00000DO0C0O0O0ODOCO $is00000O0O000ODOOOODOONgn$s0DOOOO0OOO

6] O U0

$${n \choose m-1}+{n \choose m}={n+1 \choose m}\tag{1}$$
oo

$$ \begin{equation}\begin{split} {n \choose m-1}+{n \choose m}&=\frac {n!}{(m-1)!(n-
m+1)!}+\frac {n!}{m!(n-m)!}\\ &=\frac {n'}{(m-1)!(n-m+1)!}+\frac {n!}{m!(n-m)!}\\ &=\frac
{(n+1)!1}{m!(n-m+1)!}(\frac m{n+1}+\frac{n-m+1}{n+1})\\ &=\frac {(n+1)!}{m!(n-m+1)'}={n+1
\choose m} \end{split}\end{equation} $$ $$\sum_{i=0}"n {m+i-1 \choose i}={m+n \choose
nH\tag{2}$$ O O $3% \begin{equation}\begin{split} \sum_{i=0}"n {m+i-1 \choose i}&={m-1
\choose 0}+{m \choose 1}+{m+1 \choose 2} +\cdots {m+n-1 \choose n}\\ &={m \choose 0}+{m
\choose 1}+{m+1 \choose 2}+\cdots {m+n-1 \choose n}\\ &={m+1 \choose 1}+{m+1 \choose
2}+\cdots {m+n-1 \choose n}\\ &={m+2 \choose 2}+\cdots {m+n-1 \choose n}\\ &\cdots\\ &={m+n
\choose n} \end{split}\end{equation} $$ $$F(x)=\sum_{n=0}"{\infty} {m+n \choose n}x”~n=\frac
1{(1-x)"{m+1}N\tag{3}$s 000 00O OO OO0%$M=0% O $F(x)=\sum_{n=0}"{\infty}{n \choose
n}x~n=\sum_{n=0}"{\infty}x"n=\frac 1{(1-x)}$00 O O

$m\gt0$ 0 OO

$$ \begin{equation}\begin{split} \frac 1{(1-x)~ {m+1}}&=\frac 1{(1-x)"m}\frac 1{(1-x)}\
&=\left(\sum_{n=0}"{\infty} {m+n-1 \choose n}x”n\right)\left(\sum_{n=0}"{\infty } x~n\right)\\
&=\sum_{n=0}"{\infty}x~n\sum_{i=0}"~n{m+i-1 \choose i}\\ &=\sum_{n=0}"{\infty}{m+n
\choose n}x”™n \end{split}\end{equation} $$
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